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1TEX 1T B X 4 B LS gt o ATEX 17T B X 4 B LS it A [ TEIX 17T B X 4 5 LS it A
1A 79 93 172 50 201 | &7 EREp 370 407 177 296 36 |BHABEN 646 655 1,301 354
(0] 1) ( 1) (—TH) 2) NniC 3 (STH) (0] 1) 1)
pALUN = 375 387 762 299 202| &7 R D 668 710 1,378 567 N7 ABEE— 36 33 69 22
(0| C 5 C b5 (ZTH) 3) NniC 4 (ETH) (. olC 0 0)
3| HTH 75 86 161 52 203 |'& /7 AR 572 577 1,149 442 318 |BHABEEIN 0 0 0 0
(ol 0 C o0 (ZTH) 1) 2 3 O\TH) (. olC 0 0)
40T 345 432 177 333 204 |8 /7 AR 490 513 1,003 396 321 | HEE— 17 15 32 9
(ol 0 C o0 (MTH) 2) 2 4 (—T H1~4%Hh) (. 0olC 0 0)
5— /B4 68 62 130 38 211 |k 414 416 830 329 322| X HE— 222 233 455 143
(ol C 0 C o0 (—TH) 0) 1) ( 1) (7T H43) C 21C 2 4)
6| —/F4 86 85 171 51 212 |kt 222 255 477 180 323 | HE— 696 677 1,373 404
(0]« 1) ] ( 1) (ZTH) 0) 0 C 0 (=T H43) C 221C 4 6)
7= B4 161 160 321 108 213 |kt 278 248 526 183 324 | HEE 393 391 784 277
(ol 0 C o0 (=TH) 0) 0 C 0 (WTH1~17&#) | (0| ( 0 0)
8|EFH 157 152 309 101 214 |k 364 381 745 302 325 | HEE — 683 706 1,389 412
(0] 1) ] ( 1) (MTH) 0) 0 C 0 (H T H43) (. olC 2 2)
9| gt H 51 11 92 27 221 | BT DOY—TH 585 612 1,197 428 326 | HE— 344 380 724 207
(o i 1 0) 0 C 0 OSTH1I~17&#) (0 (. 2) 2)
105 66 63 129 38 222 | BHITDOY T H 705 697 1,402 503 327 | HEE = 885 915 1,800 520
(ol 0 C o0 1) 2 3 (ET H4) (. 0olC 0 0)
11| K& 43 46 89 23 223|BHITOY=TH 837 824 1,661 609 328 |k M = 239 248 487 160
(. olC 0 C 0 0) 1) | ( 1) O\T H4) (. olC 0 0)
12|45 5% 105 90 195 53 231|HEE—TH 623 647 1,270 444 329|pk M = 4 4 8 5
(0] 1) ( 1) 0) 0| C 0 (LT H 48%) (. olC 0 0)
13 K& 45 49 94 23 232|HEE-TH 794 841 1,635 570 331 | A HEE 1 11 12 12
(ol 0 C o0 2) 4) | (. 6) (— T H5~8%Hh) (. 0olC 0 0)
14 A FH 86 88 174 46 233|HER=TH 369 382 751 260 334 | HEE = 432 420 852 313
(o 0o/C 0 0) NniIC 1 (UTH18~28%H) ( 3) | (3 6)
15/8A 98 78 176 49 241 | BTG — 425 439 864 265 336 | HEE — 459 481 940 269
( 0) | ( 0) | ( 0) 0) 2) | ( 2) (NTH18~35%F#) | ( 0) | ( 0) 0)
16| P& 1% 106 121 227 63 242 |1 T54E — 245 242 487 140 401| ERAA—TH 655 686 1,341 414
(0] 1) ( 1) 1) 0) | ( 1) ( 4. C 3 7
20 i K Afh 277 280 557 189 301 | MG HH— 444 487 931 355 402 ERAARTTH 0 0 0 0
(ol 0 C o0 (—TH) 0) 0 C 0 (0l C 0 0)
101 | K74 334 362 696 254 302 RIAEEH— 416 453 869 345 411\ KiGAK—TH 707 723 1430 407
(—TH) ( 1) ( NniC 2 (= TH) 1) 2 3 ( 51 C 2 7
102 | K74 270 284 554 205 303 AEE =T 542 597 1,139 441 412 KGR —TH 345 361 706 216
(ZTH) (ol 0 C o0 0) 2 2 ( 1) | ( 1) 2)
111 O&hE—TH 824 841 1,665 619 304 A GE Y =— 1Y 157 190 347 163
( 5] C 3. C 8 0) 2 (2
M2/ 0&0ETH 479 445 924 368 M |\BFHABEE— 576 628 1,204 408
(0] 1)1 ( 1) (—TH) 0) 1) ( 1)
12117 —2 b 265 248 513 159 312\BHABE 484 523 1,007 320
(ol 0 C o0 (ZTH) 0) 4) (4
140|LHDR 209 201 410 153 NI FAEE= 661 688 1,349 406
(—TH) ( 1) ( NI 2 (=TH) 1) 2 3
141 | HOR 49 59 108 11 M4 BHABRE= 209 204 413 144
(—TH) (ol C 0 C o0 (T H) 4) 0 C 4
142\ L H0R 340 356 696 259 5 HAREL 1,074 1,023 2,097 664
(ZTH) (. 2/C 6, 8 (WTH,LTH) 1) 0) | ( 1)
() PIANE AR SE S Th ik [ &5 ] B 24281 A % 25032 A 5 49313 A 16,905 tH=
KIZV—2 e 1F, O E— T BATBIXIZE E008, EBNTEFL TVET, ( 45) ( 73) ( 118)
SEVEARAM 1, BT FATEXAZE D08, EBNZEFL TWETS, [ ATA R ) B 24251 A Z 24998 A 5 49249 A 16,871 tHEs
KA EBLET HIOITEXA T ATEHE SIS E TYHOM A GE — MRl TVET, [ &) B 30 A Z 34 A 64 A 34 tHE




